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INTRODUCTION TO VHDL
Experiment 4d (Two BCD Counters with debouncers) Report

1. What would you do if you need a 2 digit BCD counter that counts up/down between XX and YY where XX and YY are numbers between 00 and 99? Explain. Place your block diagram here as your solution.
2. Compare two counter designs with 4 BCD digits where the first design has 4 BCD counters and the second design has a binary 0 to 9999 counter followed by binary-to-BCD converter/decoder.
3. When it is difficult to design a binary-to-BCD converter, can you provide a solution in which both binary and BCD counters are used synchronously. Binary one will be used to count events, BCD one will be used to display the count on a 7-segment display through a BCD-to-7segment decoder.
A note on reports :

You should never ever share your homework/reports with other students. Copied reports (partly or completely) get 0 (zero) points (both students) whereas incorrect answers are penalized by only a couple points. Labs, reports and homework are here to encourage you to think, research and find solutions by yourselves. If you need assistance (at this level, you shouldn't) you can ask anyone instead of copying their work. I am quite serious on this issue!

Note : Follow the "turn-in" procedure explained in Experiment-2 report template.. 

